12
13

14

29
30

31

32

28

?%4@&? COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 1 of 6

AMERICAN VINTAGE 111963 TELECASTER (0110380XXX)

PARTS LAYOUT

© 1011
o
®
5
5 15)24
—
1617118
19)20)21
22
®
© o N 19)20)21
® o
® ® 22123
D E
[ \\A
<
\ /
N T

Mar 13, 2023 - PR6067 - Rev. A




AMERICAN VINTAGE 111963 TELECASTER (0110380XXX)

PARTS LIST
REF# DESCRIPTION PART

NUMBER
1 BODY AM VINT Il 63 TELE 3TS 7721763500
1 BODY AM VINT Il 63 TELE SFG 7721764557
1 BODY AM VINT Il 63 TELE RED TRANS 7721765538
2 NECK ASSY AM VINT Il 63 TELE RW 7721766000
3 SCREW SMA 8 X 1-3/4 OHP NI 0015636049
4 KEY GUITAR NI FENDER LOGO SET W/HDWR 0992074000
5 BUSHING STRING POST VINT SET 0994946000
6 SCREW SMAB 3 X 3/8 RHP NI 0011357049
7 STRING TREE VINTAGE NI W/HDWR 0992083000
8 SPACER STRING TREE 62 STRAT 0020423000
9 SCREW SMA 3 X 5/8 RHP NI 0011358049
10 PICKGUARD AM VINTAGE 64 TELE P/B/P 7718733000
11 SCREW SMAB 4 X 1/2 OHP NI 0015578049
12 PICKUP ASSY AM VINT Il 63 TELE NECK 7721770000
13 SCREW WOOD #3 X 1 RHP STL NI 0016295049
14 [ TUBING LATEX CUT .250 OD X .125 ID X .550 L 0039410000
15 PLATE CONTROL TELE VINT CHR 0093607000
16 SWITCH 3-POS LEVER 0038993049
17 KNOB SWITCH TELE TOP HAT 0994937000
18 SCREW MACH 6-32 X 5/8 RHP NI 0015800049
19 KNOB KNURLED CHROME BRASS 0991366000
20 CONTROL 250K 10% AUDIO METAL 0990831000
21 NUT HEX 3/8-32 X 3/32 TK NI 0016352049
22 | WASHER LOCKING INTL 3/8 X .687 0016436049
23 CAPACITOR CERAMIC .05uF 0094251049
24 SCREW SMA #5 X 5/8 OHP STL NI 0015602049
25 | JACK PHONE OPEN CIRCUIT 11 0021956049
26 RETAINER JACK NI PLT TELE 0010355069
27 FERRULE JACK NICKLE 0991941000
28 BRIDGE ASSY AM VINT 64 TELE W/O PICKUP 0094026009
28A |BRIDGE PLATE TELE PAT# 0058257000
28B |BRIDGE SECT VINT TELE 0056038049
28C | SCREW MACH 6-32 X 1-1/4 RHP NI 0015834049
28D | SPRING COMPRESSION 1-1/16 #144 0018689049
28E | SET SCREW 6-32 X 7/16 OVPT SL NI 0016105049
28F | SET SCREW 6-32 X 3/8 OVPT SL NI 0094038049

*= NOT PICTURED IN DIAGRAM

?%4@(; COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 2 of 6

Mar 13, 2023 - PR6067

- Rev. A




AMERICAN VINTAGE 111963 TELECASTER (0110380XXX)

REF# DESCRIPTION PART
NUMBER
29 PICKUP ASSY AM VINT Il 63 TELE BRIDGE 7721772000
30 SCREW MACH 6-32 X 5/8 RHP NI 0015800049
31 TUBING LATEX CUT .375 X .125 ID X .250 OD 0036878000
32 SCREW SMA#6 X 1 OHP NI 0037952049
33 STRAP BUTTONS NI W/HDWR 0994915000
34 STRING FERRULE RETAINER 0994918000
* CASE GTR AM VINT 2012 BROWN 0094759000
* BRIDGE COVER CHROME TELE 9922711000
*= NOT PICTURED IN DIAGRAM
?%4@&? COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 3 of 6

Mar 13, 2023 - PR6067 - Rev. A




AMERICAN VINTAGE 111963 TELECASTER (0110380XXX)

WIRING ASSEMBLY
O O O
©

® O O Oo

©
NECK PICKUP o
3-WAY
SWITCH
o
© © © ©
O 0 0 O O O
\ J
W/ o -/
VOLUME CONTROL
\CAPACITOR 05F
7\\ (o) ‘ TONE CONTROL
NN
\ W\
OUTPUT ASSY
C g; . COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 4 of 6
%4% Mar 13, 2023 - PR6067 - Rev. A




AMERICAN VINTAGE 111963 TELECASTER (0110380XXX)
SWITCHAND CONTROL FUNCTION

3 WAY SWITCH POSITION

§ 3 EZ % —— 3 WAY SWITCH
1 POSITION

GED aEm» C > | — NECKPICKUP

D | eumw | e | — BRIDGE PICKUP

INDICATES POSITION
@ | PICKUPISON | oF 3\WAY SWITCH

. ¢/
) 1
5 > | PICKUP IS OFF
0
—
NECK PICKU
BRIDGE PICKUP 3-WAY
& SWITCH
=2 &
MASTER VOLUME

®
O MASTER TONE

e/

?%J% COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 5 of 6
Mar 13, 2023 - PR6067 - Rev. A




AMERICAN VINTAGE 111963 TELECASTER (0110380XXX)

ADDITIONAL SPECIFICATION DETAIL

FRET SIZE: VINTAGE
(FRET DIMENSIONS ARE BEFORE INSTALLATION)

2-7/16" |

.083” '

PLEASE NOTE: AS EACH NECK
IS SANDED & FINISHED BY
HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM
THOSE SHOWN.

NECK PROFILE: “C”

T <

.825”

1ST FRET PROFILE

U

* N

975"

12TH FRET PROFILE

TUNING MACHINES : P/N 0992074000
OUTER SHAFT DIAMETER .250”

\
VAN

TUNING MACHINE THRU-HOLE
INNER DIAMETER .261”

@ .261”

SLOTTED
SET SCREW

SADDLE HEIGHT SET SCREWS SLOTTED
TALL: P/N 0016105049 SHORT: P/N 0094038049

TRUSS ROD NUT P/N 0058171000

(KA)\)Q.WS” e
U/ T 7
THSIi?Ei\D

LOGO: AM VINT Il 63 TELE PICKUP SPECIFICATIONS

APPLIED OVER THE FINISH
POSITION| MAGNETS |DC RESISTANCE | POLARITY

NECK | ALNICOS5 66-81KQ | NORTH
[ é BEVELED
DE;\ T-élji ZE?!- EPAQ?%SSQ;E EQBB:G:”
BRIDGE | Acveon |  54-66KQ | NORTH
?%4% COPYRIGHT - 2023 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 6 of 6
Mar 13, 2023 - PR6067 - Rev. A




